set

such that

Table of set theory symbols

a collection of
elements

so that |

H

intersection

union

A={3,7,9,14},

B=1{9,14,28)

A={x|x€R, x<0}

; objects that belong
fo set Aand set B

objects that beiong ”
tosetAorsetB

| subset

proper subset / strict
 subset

not subset

set Alis not a subset

‘A is a subset of B.
set A is included in
set B,

119,14,28} & {9,14,28}

ANB=1{9,14)

AUB={3,7,9,1428)

A is a subset of B,
but A is not equal to
B.

of set B

{9,14} < {9,14,28}

19,66} ¢ {9,14,28)

. superset

proper superset /
 strict superset

A is a superset of B.

set A includes set B

'A is a superset of B,
but B is not equal to
A,

not superset

| power set

power set

iequality

ésetAis not a

superset of set B

all subsets of A

all subsets of A

. both sets have the
‘same members

{9,14,28} 2 {9,66} |

A={3,9,14},

{9,14,28} 2 {9,14,28}

£9,14,28} O {9,14}

B={3,9,14},

A=B



A\B

AAB

aEA
xeA
(a,b) |

ordered pair

- complement

complement

relative complement

relative complement

-symmetric difference

alt the objects that
do not belong to set
A

. do not belong to set
A

objects that belong
toAandnotto B

all the objects that

objects that belong
toAand nottoB

to A or B but nottio
their intersection

objects that belong

symmetric difference 1o A or B but not to

element of,
belongs to

not element of

cartesian product

cardinality

Al

HA

cardinality

. their intersection

AAB={129,14}

§A: (3,9,14},

B={1,23},
A B={12914}

set membership

no set membership

A={3,9,14},3 €A

A={39,14},1€A

collection of 2

elemenis

pairs from A and B

| elements of set A

elements of set A

the number of

: thenumberof

A={3,9,14}, |A]=3

={3.9,14}, #A=3




No

N1

7
W

ivertical bar

kb

aleph-null

such that

infinite cardinality of
natural numbers set

aleph-one

A={x|3<x<14}

cardinality of
countable ordinal
numbers set

empty set

 universal set

'natural numbers /

‘whole numbers set
(with zero)

natural numbers /

‘whole numbers set

(without zero)

integer numbers set

0=

| set of all possible

values

Np=1{0,1,2,3,4,..}

N = {12,345,

0 e &g

6N,

rational numbers set

real numbers set

complex numbers
set

| & and h£0}

6EZ

{x|x=alb, a,he

S,
o

2
T
o))
m

F={x]|-w
<x<oo}

.= {z|z=athi, -

0<g<w, -

L o0<h<on}

Probability and statistics symbols table

6343434 € K

6+2i € i




_ P(A)

P(ANB)

P(AUB)
P(4 | B)
fe

- F(x)

 probability

function

| probability of

events
intersection

probability of
.events union

| conditional

probability

function

' probability
- density
function (pdf)

cumulative
distribution
function (cdf)

population

Z
L(X)

EX| V)

var(X)

 mean

expectation
-value

conditional
expectation

variance
variance

standard
‘deviation

probébélity of event
A

P(A)=0.5

 probability that of
events Aand B

‘events AorB

A given event B
' occured

J(x) dx

o

:

) = P )

values

probability that of

Pla<x<b)=]

P(ANB)=0.5

P(AUB)=0.5

probability of event

P(4]B)=03

mean of population # 10

7 é)'('pec‘ted value of

random variable X

- expected value of

‘random variable X
given Y

- variance of random

variable X

E(X) =10

EX|Y=2)=5

variance of
- population values

b

. of random variable
X

standard deviation

standard

deviation

standard deviation
‘value of random

variable X




X edian middle value of -
x random variable x ¥ = 2
covariance of
- cov(X,Y) covariance random variables X | cov(X,Y)=4
and Y
correlation of ‘
\corr(X,Y) correlation random variables X | corr(X,Y) = 0.6
andY
correlation of
Py correlation random variables X | p,=0.6
and Y
summation - sumof | ¢
Z summation all values in range of | » " = w1 = wa =y +
series f=1
ouble :
. double summation N e = Py Y Wi
ZZ summation ; — ‘Y‘; b ™

i mode

value that occurs

most frequently in

coe
PR

MR = (xma.\' + xmfn)

mlérwer [ first

population
mid-range
J /2
sample
median below this value

quartile

median /
second
quartile

quartile

- upper / third

‘samples

half the population is

25% of population
are below this value

. 50% of population
" are below this value

= median of

| 75% of population

are below this value




Zx
s

gamma(c,

A)

1 (k)

F (k, k)

Bin(n,p)

Poisson().)

Geom(p)

sample
variance

standard
| deviation

sample mean

average / arithmetic
‘mean

sample

population samples
variance estimator

standard deviation
estimator

standard score | z; = (x-x) / 5x

population samples

gdris;tribution of distribution of

X

normal
- distribution

uniform

distribution

- exponential

distribution

random variable X

gaussian distribution

gequa! probability in
‘range a,b

fx)=Ade™, x>0

gamma
 distribution

' chi-square

distribution

F distribution

binomial
distribution

Poisson
- distribution

I(c), x20

) f(x) k021 al2 /(

2T (k12) )

o = ,1 ,C xc-lé&_lx“,/_,_,___ _

X~ N(0,3)

X~ N(0,3)

§X~ 1(0,3)

e

x = (245+9) / 3 = 5.333

Pk = 1Ce (1

l p)n—k

S =2t 1 I

 geometric

distribution

f (k) = p(l-p)*




§ hyper-
- HG(N,K,n) geometric
distribution

. Bern(p) distribution

' Bernoulli

Combinatorics Symbols

Symbol  Symbol Na

n! factorial

P permutation

% n(jk i

combination

5t=1-2.34.5=120

Example

Py =517(5-3)! =60

5Cs = 51/[31(5-3)11=10






